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GENERAL INSTRUCTIONS for This Test

» The question paper consists of 3 sections (Section-A contains Science, Section-B contains
Mathematics, Section-C contains Reasoning).

» This Question Paper contains a total of 60 quesstions.

» All questions are single correct type questions. Each of these questions has four choices (A), (B), (C) and
(D) out of which ONLY ONE is correct.

» Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

» For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to
the correct answer and zero mark if no bubble are darkened. In all other cases, minus one (—1) mark will
be awarded

> Also read instructions written on the OMR sheet.

Y

Please fill the OMR answer sheet accordingly and carefully.

» Blank spaces and blank pages are provided in this booklet for your rough work. No additional sheets will
be provided for rough work.

» Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.
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@MonuLus

PART-1: SCIENCE

[SINGLE CORRECT CHOICE TYPE]

1.  Two objects A and B when placed in turn in front of a concave mirror of focal length 7.5 cm, give images
of equal size. If A is three times the size of B and is placed 30 cm from the mirror, what is the distance
of B from the mirror —

S IRl AR B @ 7.5 ¥ BIHE G B IGdd UV b AHA IRI—IRI ¥ W IR FAM IMHR
o ufdfe g B 21 Al A, B & MR &1 a9 A1 8 AR U0 | 30 9 & g R Reg g, @
YT H B @ g @ -

(A)10cm (B)12.5cm (C) 15cm (D) 17.5cm
2. Tesla is the unit of —

(A) Electric field (B) Magnetic field

(C) Force per unit length (D) Work per unit time

AT fhdl sH1S T

(A) faga a3 a1 (B) gHE®HIT &3 DI

(C) ufr g1 =TS 9 B (D) THie I8 § H

3. In the circuit fig, the voltmeter reads 30 V. What is the resistance of the voltmeter?

yelRfd o # dieedier &1 urgdid 30V 8, @ diccHiey &1 ufa”ig g1

o
O
3000 €2 4000 Q
ANV AAAAAAA
I
(A) 1200 © (B) 700 © (C) 400 @ (D) 300 @

Space for rough work
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@MonuLus

4. Fan is based on —

(A) Electric Motor (B) Electric dynamo (C) Both (D) None of these
URIT BRI HRAT @
(A) faga drer =R (B) fagd SEMI W) (C)TF1 W (D) S8 & BT T8l
5.  The equivalent resistance between points A and B in the fig, is 1 Q. What is the value of unknown

resistance R?

gfe Adem B o weg 9o gfoRig 1 Q 8, @ argrd yfoklg R &1 A9 81

1Q 20
R
Ae WM *B
1Q 2Q
A)1a B)3 )6 Q D)9 a

6.  Current of 4.8 ampere is flowing through a conductor. The number of electrons crossing per second
the cross-section of conductor will be.

Uh s W 4.8 TR FI gi)T garfed Bl ', O Ui dAdvs fHH U dIe &3 9 Wik drel

SAFSTAl B FTIT I

(A) 3 x 1017 (B) 3 x 10?0 (C) 7.68 x 10?0 (D) 7.68 x 10!
7. Out of the following, the best conductor of electricity is —
(A) Gold (B) Copper (C) Silver (D) Platinum
1 & 9 fgga &1 999 ol aee BT
(A) wgoi (B) drdn (C) = (D) wifefaH
Space for rough work

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [3]



@MonuLus

8. The IUPAC name of C,H, is-
C,H, ®1 TUPAC 94 &
(1) Ethylene (2) Acetylene (3) Ethene (4) Ethyne
0. Diagonal relationship is not shown by -
7T H 9 i el day yafia 78 o= 2 -
(1) Li and Mg (2)Cand P (3) B and Si (4) Be and Al
10.  Which of the following is a displacement reaction ?
1 # 9 eft femus afwfsar g 2
(I) CaCO; — CaO + CO, (2) CaO + 2HCI — CaCl, + H,0
(3) Fe + CuSO; — FeSO, + Cu (4) NaOH + HCl — NaCl + H,0
11. A metal ion M** loses 3 electrons. Its oxidation number will be :
TE o1 M M, 3 golagia IcAfld HRal 8, SH! ITaRIHR0T F&T B
(1)+3 (2) +6 3)0 4)-3
12. Which of the following is an Amphoteric Oxide-
(1) BeO (2) ZnO (3) PbO (4) All of these
13.  The process of protecting iron by coating it with zinc is known as-
(1) smelting (2) galvanization (3) roasting (4) corrosion
5% & U9 gRT @iz &1 g &I &1 UHH el o
(1) 974 (2) T HRor (3) woiq (4) F&arRo
14. If a hydrocarbon has any triple bond, it is
(1) Alkyne (2) Alkene (3) Alkane (4) None of these
gfe gressierdd 4 e ey g, d 98 ©
(1) Tep1sa (2) T (3) Yo+ 4) 378 | PIg T8
Space for rough work
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@MonuLus

15. Exchange of gases occur through :-

(A) Stomata (B) lenticels (C) Root Surface (D) All the above

@ fafm feae gw ogar ®oo-

(A) == (B) T I (C) 9Te a8 (D) SWRIa a4
16. Kreb’s cycle operates in :-

(A) Chloroplast (B) Golgibodies (C) Mitochondria (D) Nucleus

®q Tk fhed BIal T -

(A) FIRTARS (B) MestidTa (C) g3 Hivrer (D) <
17.  Which one is a product of glycolysis :-

(A) Ethyl alcohol (B) Oxaloacetate (C) Pyruvate (D) Lactic acid

91 § ¥ P TshIasd Bl SJg -

(A) 39Td Uedbigal  (B) sifaaieligdiiee (C) urgRae (D) @few s
18. Covering of lungs is :-

(A) Pericardium (B) Pleura (C) Epiglotis (D) Capsule

B B IRV B -

(A) &R (B) GFREHTRTT (C) FvowBT (D) Beger
19.  Conversion of pyruvate to ethyl alcohol and carbondioxide occurs in :-

(A) Chloroplast (B) Mitochondria (C) Cytoplasm (D) None of these

FE TR IUBA Tedhled IR FHETSRIRIGS UIRIE A a9d © :-

(A) FARIIRE (B) gHABOTHT (C) ®If¥r®1 o= (D) 398 ¥ PIS &I
20. Mark the odd one :-

(A) Insect - Trachea (B) Fish - Gills (C) Human - Lungs (D) Earthworm - Book lungs

favw @1 fafeq @i -
(A) ®re - efdar (B) 9wl - Tl (C) 71 d - D% (D) &g - g8 &4

Space for rough work
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1IT & NEET ACADEMY

PART-II : MATHEMATICS

[SINGLE CORRECT CHOICE TYPE]

21.

22.

23.

24.

Let a, b, ¢, p be rational numbers. Such that p is not a perfect cube. If a + bp'® + cp*® = 0 then.
AT a, b, c,p uR¥T d@n 8 W f& puas gof a9 =1 & afa + bp® + cp? =0
(A)a=b=c (B)a=b=c (C)a#b=c D)a#b=c

3\
The value of (5[8% +27%j j is—

(5(8% 1275 N% P A E

(A)3 (B) 6 ©)5 (D) 4
|
The H.C.F. of 10, 10 1o 8-
1 1
10, F’ 10—40 %1 H.C.F. sarsy
A) 1 (B) 10 (C) 10%° (D) 10

An examination consists of 160 questions. One mark is given for every correct option. If one-fourth
mark is deducted for every wrong option and half mark is deducted for every question left, then one
person scores 79. And if half mark is deducted for every wrong option and one-fourth mark is
deducted for every left question, the person scores 76, then find the number of questions he attempted
correctly.

TH TR H HA 160 UeH | YA GEl U B Sdd W U AdH YA (BT A1 8 a1 TAd IR
W 1/4 3% G S 8 d1 1/2 3% UeR’ W § Al Pz S99 9 QA1 W1 8| 59 UPR TP
fd gdien § 79 3® UTK BT B | A UAD T SR W 1/2 3{PH AT IR A I R 1/4 3P
uel fear S, a1 98 fed 76 3® UTa PRA1 8, A Gfdd gR1 Y T |E Ul @l |qwdl se
(A) 80 (B) 100 (C) 120 (D) 140

Space for rough work
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25.

26.

27.

28.

29.

If (a + b, a -b) is the solution of the equations 3x + 2y = 20 and 4x -5y = 42, then find the value
of b.

afd (a + b, a -b) FHIHIUH 3x + 2y = 20 TAT 4x S5y =42, BT A & o b &1 A qAY |

(A) 8 B) -2 ©) -4 D) 5

What is the first degree expression to be subtracted from x° + 8x* + 2x* + 16x*> + 4x + 5 in order
to make it a perfect square ?

/g # 9 3199 Was a9d B ATE X0+ 8xP + 2xP + 16x2 + 4x + 5 H A uerd W 6 uw
gl it 9 S |

(A) 4x -4 (B) 4x + 4 (C) 4x 4 (D) -4x + 4

Which of the following is a homogeneous expression ?

fr=fafaa & 9 @991 doie G982

(A) 4x%? — 5xy + 5x%y + 10y? (B) 5x + 10y + 100

(C) 14x3 + 15x%y + 16y*x + 24y? M xX+y’+x+y+1

Solution set of 5**D 4 5C-9 =53+ [ ig

56404520 =53+ | Bl BT T ©

(A)[3, 4] B) [2, 1] ©) [2,-1] D) [5,2]

In the given figure :

e o o ¥

uy
L0 T2 0

(A)a+b+c=0 (B)a-b+c=0 (C) 2a+b+c=0 (D) 4a - 2b +c=0

Space for rough work

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [7]



)

MopuLus

IIT & NEET ACADEMY

30.

31.

32.

33.

34.

The ratio of the sum of n terms of two A.P.'s is (3n — 13) : (5n + 21) then the ratio of 24" term
is

G AP's @& nUsl & AMHA B AU 3n — 13) : (Sn + 21) &, @ S 241 ug @7 U &

1 1
(A) 2 (B) 3 © 5 (D) None

If the arithmetic mean between p™ and q™ terms of an A.P. be equal to the arithmetic mean between 2™
and 7" terms of the A.P. then (p + q) is

afe ph dAT @ U b W FATOR A1em, 2M el 70 USl @ Heg WK ARd @ _IeR g, A (p + q) B
AN B

(A) zero (B) 6 )7 (D) 9

A person has two parents (father and mother), four grandparents, eight great grandparents and so on.

Find the number of ancestors in 10th generation.

UH ded & & uRed g (A den fidn), ¥R Qe &) (grandparents), 36 USEIQl, UGGl (great
grandparents).... 3 &R & a 1047 Uit § fdqal @1 G 8N

(A) 1028 (B) 1024 (C) 1030 (D) 1026

If sin O = E and 0 lies in the second quadrant, find the value of secO + tanf =

?Jﬁsiné):%\_r@'@@‘cﬁ?l Tgerfer § Rer@ 2 @1 secO + tand =

(A) —4/3 (B) -3/4 (C) -2/3 (D) -1/3

An aeroplane at an altitude of 300 m observes the angles of depression of opposite points on the two
banks of a river to be 45° and 60°. The width of the river is
TP Bals wErel Wl 300 m S8 W B, BT &l ARAl B [FARI A GTHT BT 45° JT 60° 8 AT A<
EaRCISIERR

(A) (300 — 100+/3) m (B) (300 + 100+/3) m
(C) (3003 + 100) m (D) (300,/3 — 100) m
Space for rough work
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@MonuLus

35. There are 4 horizontal lines H, to H, parallel to each other and 4 vertical lines V| to V, parallel to

the each other. The spacing between any 2 successive lines is 1 cm. The sum of the area of all
parallelogram that can be formed using these lines is :

4 &fos @ H W H, 9P 8 Sl U6 gk @ WHAMRR & I IR SedleRk Y@ V, 4V, d6 S
Th TR B TR o | HANK G @RI B HY P g 1l em B Al GHI FH FHIRR AgHS D
&FHAl BT AN BN
(A) 28 cm? (B) 36 cm? (C) 50 cm? (D) 100 cm?

36. If the centroid of the triangle formed by the points (a, 1), (b, ¢?), (=1, 4) lies on the
Y-axis, then :
s Bye e MY (a, 1), (b, ), (-1, 4) &, & d=d Y-319 W Rod 2, d9
A c*+1=0 B)a-b=2 C)a+b=1 D)c*+a=0

37. PQRS is acommon diameter of three circles. The area of the middle circle is the average of the area of the
other two. If PQ =2 and RS = 1 then the length QR is
Ifd PQRS &1 gaii &1 SIS 91 2 | 919 arel 99 &1 9%l G |1 gl & &hdl &l 71T § | If PQ
=2Tu1 RS =18 @ QR & od1g 2l |

(A) V6 +1 B) V6 -1 ©)5 (D) 4

Space for rough work
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@MonuLus

38. Foreach natural numberk, let C, denotes the circle with radius k centimeters and centre at the origin. On

the circle C, , a particle moves k centimeters in the counter- clockwise direction. After completing its
motion on C, , the particle moves to C, ,, in the radial direction. The motion of the particle continues in this
manner .The particle starts at (1, 0).If the particle crosses the positive direction of the x- axis for the first time
on the circle C_ then n equal to
g UTehd Al k @ g, Ife C, T g &l yafRid dxal & R Broan k i qen o 1ot fag o) Rera
& g1 C, W T YT qr1ge feen # ke 7ifcy e 8 | 1 quf &=+ & 91€ 98 C,,, W ugd ol & (i
fa=m #), 39 YR U1 TR HRaT &4l § I BT (1,0) A YH 8 AT SHAD x- 6T H Ugel] IR Jolkall 8 a9
a8 C, g1 W= Rerd X&dl & o n b1 €19 8Nl
(A) 6 (B)7 )8 D)9

39. Ifx e R, the numbers (5'** + 51 =%), a/2, (25* + 257%) form an A.P. then 'a' must lie in the interval
e x € R arafds G (514 + 51 7X), a/2dm (25 + 25%) A.P. 9 8, @1 'a' &1 A s ara_Tel § Rerd 8rm—
(A)[L, 5] (B) [2, 5] ©) [5, 12] (D) [12, )

40. If BC passes through the centre of the circle, then the area of the shaded region in the given figure is
Ife BC 9 & @ 9 Yol g, A1 o 9 yaRia sranfed 9r &1 e=whd 8 |

T

-

(A) %(3—75) (B) a* [g—l) (C) 2a*(n-1) (D) %[g—l]

Space for rough work
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1IT & NEET ACADEMY

PART-III : REASONING

[SINGLE CORRECT CHOICE TYPE]

41.

42.

43.

44.

Find a wrong number in the series :

Gl § TAd G S DI -

7, 28, 63, 124, 215, 342, 511.

(A) 7 (B) 28 (©) 124 (D) 215

In a certain code, a number 13479 is written as AQFJL and 5268 is written as DMPN. How is 396824
written in that code ?

s Af¥ed @ #, 9w 13479 &1 AQFJIL @21 5268 & DMPN @& U # forar &irar g, a1 S &rs
H 396824 &1 H for@r SR 2

(A) QLPNKIJ (B) QLPNMF (C) QLPMNF (D) QLPNDF

Manisha ranked sixteenth from the top and twenty ninth from the bottom among those who passed an
examination. Six students did not participate in the competition and five failed in it. How many students
were there in the class ?

TH TRIET UV R Tl W A SR F AlerEd 3R A W SHad XE R B | B B A yfadifin
d 9 e forar SR dfg 88 SrRiv 8 Q| Fer H fhaw faemefi g ?

(A) 40 (B) 44 (C) 50 (D) 55

Johnson left for his office in his car. He drove 15 km towards north and then 10 km towards west.
He then turned to the south and covered 5 km. Further, he turned to the east and moved 8 km. Finally,
he turned right and drove 10 km. How far and in which direction is he from his starting point?
(A) 2 km West (B) 5 km East (C) 6 km South (D) None of these
S 7O BR H S0 BrITAd P oy k@ gyl a8 15 fHl STR @1 SR SR R 10 fH uftem
D SR GST AR 5 fFH & g8 J7 $V| M 98 Yd B dR qT AR 8 A 7| oid d, 98 IN
g1 3R 10 fod gar| a8 o eikfve fdg 9 fha gr ok fow feem & 8 2

(A) 2 foft uf¥gm (B) 5 f&+ gd (C) 6 o+ <faro (D) 398 | PIg A8

Space for rough work
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45.

Pointing to a person, a man said to a woman, “His mother is the only daughter of your father.” How was the
woman related to the person?

(A) Aunt (B) Mother (C) Wife (D) Daughter

Teh AT Bl AR FART BRA 8Y, U B9 - o ARl A Bal, "Iqab] Al 3f7ue U1 Pl Sl 9l 8 | Afgall
I Afdd ¥ Y FHIET 2 |

(A) == /ArA (B) #f (C) u=it (D) 91

Directions (Q. 46 to 50) : Read the following passage to answer these questions :

46.

47.

48.

49.

50.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as Mahima. Rajan is
half the age of Mahima. Anita is half the age of Deepti and Rajan is twice the age of Lata.
T, AfgH, o, a1 AR S Ui FeR) g8+ © | Al Bl Y AfH W A g | o AfRHT |

M JH BT T AT B MY AT @Y MY W MM B SR [T B MY AT B MY A QA B
Who is the youngest ?

A9H BIST BT 8 7

(A) Deepti (%) (B) Rajan (1519) (C) Lata (<dT) (D) Anita (3791d)
Who is the eldest ?

qad ST HIT T ?

(A) Deepti (%) (B) Lata (<) (C) Anita (37¥1d) (D) None of these
Which of the following pairs of persons are of the same age ?

frefafaa 4 9@ @9 9 @f@al & Sis 999 g @& ©§ 7

(A) Mahima & Lata (B) Anita & Mahima  (C) Mahima & Rajan (D) None of these
(A) #fewr 3R oar (B) arfrar ik #Afgwr  (C) #Afgwn MR <19+ (D) 398 | PIg A8
Anita is younger than

arfiaT | BT 8-

(A) Rajan (I7517) (B) Mahima (#fg#T) (C) Deepti (1) (D) None of these
If Mahima is 16years old, then what is the age of Lata ?

gfe afgar 16 99 &1 8, a1 &1 @1 Ay @1 8 ?

(A) 4 years (B) 5 years (C) 7 years (D) 14 years

Space for rough work
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51. How many triangles are there in the following figure ?
& W o § g sl o wwr enl:
(A) 19 (B) 21 (C) 27 (D) 48
mirror image of given figure will be
UeRRid el &1 ufifaw s
53. Igotwo kilometres towards East. I turn right and go one kilometre I turn right and go one kilometre again.
In which direction am I now from my starting place.
(A) North - East (B) North - West (C) South - East (D) South - West
e H 31o wIE 9 ] fFarier gd fRen d 9o §, 39 918 I gAIR U [BaAHIeR aedl 5, S U]
R ¥ TR gHAR U fharier Iodl § | 3@ H U+l UR™ 4 {5y & 4 &
(A) ST -7d (B) ST - 4ive (C) wféror - qd (D) faror - ufkem
54. If + means +, — means X, + means + and X means —, then36 x 12+4+6+2-3=7
I + BT AdAd +, — BT HAAT X, + DT AT + TAT X BT Adold — 8, A1 36 X [2+4+6+2-3=2
(A)2 (B) 18 (C)42 (D) None of these
Space for rough work
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Directions : (Q. 45to 47) :

55.

56.

57.

In each of the following questions, arrange the given words in a meaningful sequence and then choose the

most appropriate sequence from amongst the alternatives provided below each questions.
TS U H & T TRl B U ALYl a¥ie I GIaRd BRI al el H Q¥ T G gaRed HH
1 TEHI |

1. Birth 2. Death 3. Funeral 4.Marriage 5. Education
1.5 2.9y 3. et 4. ey 5. frem
(A)4,5,3,1,2 (B)2,3,4,5,1 (©)1,5,4,2,3 (D) 1,3,4,5,2

1. Site 2. Plan 3. Rent 4. Money 5. Building
1. Ge-ThH 2. S 3. fo_ra 4. 99 5. wa+
(A)4,1,2,5,3 (B)3,4,2,5,1 (©)2,3,5,1,4 D) 1,2,3,5,4

1. Table 2. Tree 3. Wood 4. Seed 5. Plant

1. At 2. 93 3. APl 4. 9 5. de
(A)4,5,3,2,1 (B)4,5,2,3,1 (©)1,3,2,4,5 (D) 1,2,3,4,5

Directions (Questions 48 to 50) :

58.

59.

60.

It being given that : A denotes ‘equal to’; L1 denotes ‘not equal to’; + denotes ‘greater than’; —denotes ‘less than’,
x denotes ‘not greater than’; + denotes ‘not less than’. Choose the correct statement in each of the following
questions :

o T U H AP Adad ‘GRER’e; [ $T Adeld ‘SRR T8l 8; + T Addd “F g7 8, — B Adad | Blel’
2, X BT Tdold ‘¥ §9] 78’ B; + Bl qdold 9§ vl 98 2 | 9 uei 4§ 98 $U= B yg=a=i:
a—b—cimplies

a—b—c TR BAM:

(A)a-b+c B)b+a-c (Ccxb+a (D) b+a+c

ax b + cimplies

ax b+ c W& BAM:

(A)a-b+c (B)cxb+a ©)alb0Oc D)b+a+c

a+ b + c does not imply

a+b+c R TE BT

(A)b-a+c B)c-b-a (C)c—-a+b (D) b-a-c

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar : 9460374000, 9460378000 [14]
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Teena Kumari
Dlo Manjeet Singh

o

NIT Kurukshetra

Akshat Parashar
Slo Babulal Parashar

Sajid Khad

S/o Khurshed Khan

NIT Raipur

Jatin Gupta

Gulshan Gupta
Slo Sunder Lal Gupta

Slo Ajay Kumar Gupta

Mohit Kumar

Nishant Kumar Meena
Slo Mahendra Kumar

S/o Ramcharan Meena

IIIT Sonipat NIT Srinagar

Noushil Sharma

Manish
Slo Rajkumar Sharma

Slo Mohan Singh

MNIT Jaipur

Ekta Verma
D/o Deep Chand Verma

NIT Kurukshetra

Tushar Saini
/o Kamal Chand Saini

Kunal Khandelwal
Slo Jagdish Khandelwal

Nitin Kanwat
Lt Mr Dharam singh Meena

NIT Srinagar

Surendra Meena
$Slo Bakhtavar Singh Meena

Vidhushi Jangid
Dio Brijesh Sharma

Lalit Kumar
Slo Hari Singh

NIT Jalandhar

Arjun Bhatia
S/o Rakesh Kumar Bhatia

Jaspreet Singh
Slo Balkar Singh

[

MANIT Bhopal

Nitin Kumar
Slo Phool Singh

-~
b

NIT Raipur

Divyansh Saxena
Slo Umesh Raizada

2

NIT Jalandhar
Vipul Jain

$lo Pramod Jain

Neha Gupta
Dio Naresh Kumar Gupta

MANIT Bhopal

Vishal Meena
Slo Pooran Chand

2

NIT Raipur

Saransh Sharma
Sfo Rakesh Kumar Sharma

3

NIT Hamirpur

Lakshit Juneja

Slo Manoj Juneja

Bhavuk Dhanetia

Slo Anoop kumar Dhanetia

s
NIT Arunachal

Nitin Ghusinga
Slo Shrilal Meena

NIT Patna

Ravindra Kumar Meena
Slo Suresh Chand

NIT Manipur

Himanshu Meena
Slo Kailash chand Meena

AIT Pune

Arun
Slo Kanwar Pal

NIT Meghalaya

Devendra Kumar
Slo Laxman Prasad

Aryan Gupta
Slo Trivendra Gupta

-
MANIT Bhopal

Divyanshu Khandelwal
Slo Ashok kumar Gupta

Deepak Kumar
So Gheesa Ram

NIT Hamirpur

Ankur Kumar
Sfo Mukesh Chand

AIT Pune

Prateek Sikarwar
Slo Dharam Singh

IIIT Bhopal

Bholaram
Slo Jaivinder
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Great Team... Great Results... (IITians from Modulus)
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PRIDE OF MODULUS
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IIT Dhanbad IIT Jodhpur IIT Delhi IIT Delhi IIT Roorkee

Vishal Agarwal Lakshya Gupta Harshita Gupta Chahat Bansal Pranay Ninawat Deepanshu Budhraja Khushi Singh
Slo krishan kant gupta Slo Purshottam Dass Gupta Dlo Lokesh Gupta Slo Rajesh Kumar Bansal Slo Vikram Singh Slo Kishan Lal Khatri Dlo Rajender Singh

IIT Dhanbad
Bhavesh Sharma Nitik Sharma Riya Jain Vaibhav Singhal Ankit Sulaniya

Slo Sushil Kumar Sharma Slo Himanshu Sharma Dlo Mukesh Jain Slo Dinesh Kumar Singhal Slo Ramdayal Meena

Naman Saini Kartik Panwar
Slo Vimal pushp Slo Pradeep Kumar

o4 o
IIT Ropar IIT Hyderabad IIT Kanpur IIT Bombay

Ashish Sulania Lakshya Mukhija Harsh Khandelwal Abhimanyu Jain A ; P
h / shok Kumar Jat Mahima Kumar
Slo Prem Chand Slo Charan Jeet Mukhija Slo Virendra Kumar Gupta Slo Anil kumar Jain Slo Ramkishan Jat Dlo Raj Singh Sllzll.sa;?ndsrlansgingh

K‘;\f‘f]

IIT Palakkad

Anmol Agarwal Niraj Yadav Hemant Kumar Mohit Saini Saumil Gupta Himanshu Yadav
Slo Manoj kumar Agarwal Slo Rajendra Yadav Slo Mahesh chand Slo Rajesh Saini Slo Girish chand Gupta Slo Manoj kumar Yadav

IIT BHU IIT BHU

Sourav Amit Mina Nikita Mina Aynansh Khandelwal Rishita Gupta
Slo Mahendra Kumar Slo Om Ram Mina Do Mukesh Chand Meena Slo Manoj Khandelwal Dlo Rishi Gupta
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Ambedkar Circle, Alwar (Rajasthan); Ph. 9460374000, 9460378000
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